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The article is dedicated to a problem of regulation of air distribution in

separate parts of the mine ventilation system.
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 1

 (R )  0,01 2 6;  (Q )  27,9 3

 (R )  0,02 2 6;  (Q )  19,73 3

R , 2 6
(Q), 3  ( Q), 3 Q Q

Q =31,77 Q =12,230,1 Q =45,98 Q =1,64 0,133

Q =35,34 Q =15,520,25 Q =45,34 Q =2,28 0,146

Q =39,07 Q =18,351,0 Q =44,59 Q =3,03 0,165

 2

 (R )  0,1 2 6;  (Q )  27,19 3

 (R )  0,2 2 6;  (Q )  19,22 3

R , 2 6
(Q), 3  ( Q), 3 Q Q

Q =23,07 Q =6,151,0 Q =33,39 Q =7,47 1,21

Q =24,41 Q =7,492,5 Q =31,31 Q =9,55 1,27

Q =25,62 Q =8,710,0 Q =29,24 Q =11,62 1,33
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